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qrftcr+-+ sioqqrq* r

g{T n-Fr- q=r $l ij'ir er}ff or Bff ffi cq. t{qr + A&q, aB.{
sr$ viTt 6r qna{ c-$. ff +{r qBs 

r

Kiteland (K) and Airland (A) are two economies with
total labour of 50 and 150, respectively. The tastes
and preferences of these economies, over the two
goods X and Y, are the same and are given by the
utility function U(X,y)=X0.6y0.a. In Kiteland, one unit
of labour can produce 3 units of Good X; while it can
produce 5 units in Airland. Similarly, one unit oflabour I
can produce 4 units of Good y in Kiteland, whereas

it can produce 8 units in Airland. Given this
information, answer the following questions :

(i) What is the opportunity cost of producing X in
terms of Y in Kiteland and Airland?

(ii) What are the production possibility frontiers for
the two countries?

(iii) Under the conditions of free trade, what is the
equilibrium relative price?

4120 15

orfqq*q + l5-d+ + sF{, ?$ A qq x 6l e{rqmo.

fi Gri il q6' s{t€ fr rn+er t frFd qt fr
*t uq x 6l XEd Erqr Eq hT qi taf,r vtr rr6-fl
tsr

8. (a) For the given costs and benefit curves oflobbying,
the endogenously determined tariff rate of
protection is tt. Suppose the cost of lobbying
decreases. What will happen to the optimal
protection rate? Illustrate with the help of a

diagram. (S)

(b) Consider two countries A and B, producing
homogenous goods and competing in a Cournot
Duopoly setup in intra-industry trade. Suppose
Country B grants an export subsidy of. Illustrate
with the help of a diagram the change in the

I

reaction functions of the two countries
comment on the pattern of trade.

and

(7)

(w) der d A ?r{ drrrfi *r Hrrr qm.+ frs, Brirdd sc

+ BuiRf, gten d tftt6 qt t* il qr" dfrq dG-rr
' d irrrfl q-e orft Br $-dq EGT "r 

w wlt *fl?
srfos + €r{dr + Fq dfrsl
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,7 (a) Consider a large open economy Paperland

exporting paper. Discuss the net welfare

implications of an export tariff on paper imposed

by Paperland with the help of a diagram. Is there

any rationale for the domestic producers of

Paperland to oppose this export tariff imposed?

(8)

(b) Consider Country A producing Good X which

imposes a negative externality in the form of

pollution. With the opening up of the economy ior

free trade, Country A becomes an importer of

Good X. Illustrate with the help of a diagram how

free trade of Good X might make this country

better off. (7)

(sr) c+' qS tgff $+qqwr ffis ffiil snq q{ G-dR

qtr ffic Enr ilflq qg ir'Frcr q"a gql6 g6 t ga

q-srq nqr+ d V*' orkcq * c6r.rdr t qd aftfrqt

wr ffis + dqs-icrc-+1 * fts Rrrs qs 5( ffi
gra or trtu o-rt qr ot{ ofrks *?

(<) t$ A qr ft-qr qt d cq x ta m rar * fr qv"t

+ 5q + ;r5Rrfl-6' sr6t-{r ilnfl tr gw qqR 4 ftq

(iv) Discuss whether the economies would go for

complete specialization?

(v) If there was complete specialization, what would

have been the relative output of X to Y
produced? (15)

6rr.e (+) *( \cdi (v) a oni-c-cerc *, ftri-+r Efl
qr.r 6"rrII: so *{ r5o *r S{ ilfqqefl* * ere gt<

eiqR-{-drs, i -SS x sfu Y qt (.IFr t *t vcAfrRr

$-snr U(X,Y)-X06Yo4 an ff rr{ }r mrfr*s +, ,x{ *
\6- E6.r{ q<J x d 3 E6.r{+ 6I vfiIrq;I rfi't q6-ff *; u-{ft

116 y{{+s { s Xfue sI 3f,ftFr m irfi-fr *r r& n-ra,

Er{.& + "fi d \.s 16'r€ n 1fi-c qE Y 6I Yflr(;r 6{

F+-e i, qEB, z16'\qift i s RR-e w cer<q o.t rtff
|1 Eq ilT+lt +1 ?re* gq, ffifr( vrc] * vf,{ t:

(i) Kiteland stt Airland i v * t-oi i x * serrrr

* lr+m arrra sqr t?

(ii) ++- hti * frc vsre+ rrnqr( wr *?

(ifi) 5-ff qrqR d rrff * rco, wga-<mta frrt qr *?
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(iv) *$ ei B'wr orllqsrqq 1li RAs-d-dT A As iilTrti

(r) qR $ friq-fldr *e, * x t y c,r qter ve{rrq wr
+dI?

(a) In the world economy, there are two countries:

Gangaland and Missisippiland. Gangaland has a

preference for consumption in the future and

Missisippiland has a preference for consumption
in the present. Illustrate how trade is intertemporally

balanced with the help of diagram(s). (8)

(b) Consider two countries A and B. The real wage

rate in Country A is higher than the real wage

rat; in Country B. How would international trade

affect real wages between them if labour is
perfictly mobile across the two countries? (7)

(or) frm or'+e-qelr n, a ia *: rrffis stt frRRftfur
qRq t rqqd + frrq ffi + nqBom * 3fu {SqT-{

t rq"ro i frq ftRRfreB 6 nqR'sil Br s{t€ (S)

d serzrm t sq ei E qr,qn *t sra-t- sreir& <c

t rrgkr tr

l3

(iii) qTrr (i) Eft fi-tdcdT +, 3rq qrq dfrq, 3i++s

d vc+'n m*isrrd vt fr{dr iftn d rrrrr

in'a-ffi+€ * eirqn c{ to efr{rt 6l qs

Htq tRs'aqrft *r sf'&fi-crfi TslT + frs
q{r frqr BT+ qrdr iqr ERp Hr +fi?

(iv) trqr*+amo ffisor st fu efi"&+s ({+,R Erir

oN+ tqq S efdctiTrd r+rT !t ffid 6+
+ frs vc+.r Eft qI+ sr& a, +nA t n +r
S +q Bia+{r${ lrsr6t- * ce+ 3{fu5'tur

wrff *r

(e) d ?rn q( E-sR qt: frilft 3ik qrfi+s, a Tq* q'r

yere-< q'rt e; +srfd st{ sn{+s, gt ma t vRertr

at'm ftft* * arar ffiq#s ctsr{f, o,r Mr c''rcn i
irk BrdQs s'r srrrtt q{n *r ffis aT{Qs 6r ffiil
q,car * ft qlsr{fi q,r s{Frd 6-car *r *t *rt- * ftc
lr;S q-+er sr+ sns( q,'{ Eil qrc+ gv, v-*. <nr.-g*

+{fr sre BTtrq + q{E t sq ct fr srn srfieb

ERr B{r{+s d ar6 i' ol-iir;r6'Fr(rqe 3tT-fr * a} wr

Ehn?
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(b) Consider two countries: Fineland and Sineland,

producing two goods: mobiles and iPods, under

perfectly competitive market conditions. Fineland

exports mobiles and imports iPods. Sineland

exports iPods and imports mobiles. Assuming well-

behaved offer curves for both the countries,

illustrate with help of a neatly labeled diagram, as

to *-hat would happen if there is sudden fall in the

supply of iPods by Sineland? (6)

(or) ef-&*s \c- st-&iTrd o-*rr rrrfr-d'q-c{r qr6il *r v6
sf'}.il-fi-d ql XF qrcR {cc $aooo I BIk ei-a-s--+}

6r $rqrd d vo sfrt+qr{d + firdq t firdr *. srff
*{fi'$4ooo *r ffift+r vri * sm *'

(i) qR qr+T sfeerrd srolt c{ 20 vRsrt sr

cvr1il. tRh' Frrnft *, + Tftr +} A wi <rfr

lreir d yqrft E{ (ERP) f,r *?

(ii) q<mfrs m'A'& BIq-{r sn'a-m,++c :r*{r

rerfr'-d 6-c<r qrmr I efu rsfrs {.5R of'a -
fr+< + srrrrr rr ro cfrsrd sr vs ++fi
?fu drn-e +, frvq 3frdRqTrd.n a+€ tRm'

+dt- tr onffisr{d Yg}.r + frs +{r fr-qr Br+

srlr {cr ERP Hr *rn?

(q) * tril A $rt( B Ti E-qn qtr tw a t qRGm' qu-1t

Er k B + qr<Re' rq{t ?( t 3IE-*' *r qR <lir-

?rit- t ^rq $ ma i s-d rar I + ird<IqH qrcR

3T+ fi-q eRF-6 q-d-{t d ++ nqlE-d 6trr?

(a) Consider a standard Heckscher-Qhlin (HO) Model,

where two countries Home and Foreign produce

two goods, sugar and milk, using labour (L) and

capital (K). Home is relatively labour abundant

and Foreign is relatively capital abundant. Assume

that sugar is relatively capital intensive and milk

is relatively labour intensive. Answer the following

questions:

(i) Discuss the pattern of trade between the

two aountries.

(ii) Under what condition(s) factor price

equalization may be obtained? Discuss with

the help of a diagram, showing the segment

of equalization. (8)

(b) Discuss the domestic market failure argument

against free trade rvith the help of a diagram.

(4)

3
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(i) If the governlnent imposes an ad valorem

tariff of 20 percent on automobile imports,

what is the effective rate of protection

(ERP) offered to the industry?

(ii) Suppose Autoland wants to set up its own

auto-components industry and hence the

government imposes an ad valorem

tariff of 10 percent on imports of auto-

components, with no tariffs on automobiles.

What would be the new ERP offered to

the automobile industry?

(iii) In contihuation to Part (i), now suppose,

the government of Autoland imposes an ad

valorem tariff of l0 percent on imports of

auto-components along with the existing

tariff on automobiles. What would be the

new ERP offered to the automobile
industry?

(iv) Critically analyze which of the three

policies used by the government of Autoland

to develop its own automobile industry,

protects the domestic automobile producers

the most. (9)

(c) Write a short note on optimum tariff (3)

(w) c*' qro twqt- ffir (no) *ro v{ G-{n 6i,

s6i a tu +(.tu Et{t ,rr (L) sk (S (r<) or

Bc+r fi* e] srflq, +fr d{ *r 6l sicrfi 6-rt

#r m vtenge 4r.r e'g{ qrer { t *t Affi afurgn

fS c-$ qnr { ir qm t fr *ft anargo ifr rm
t ft, *, atarSo xr errm er ffifrd ey+ +

siR fffuq:

(i) ++ m + ff"'qrcn + H qt q-d qtr

(ii) fr-{ srfr * ir6-d 6rc6 Ts rqmdr ,[q d qr

ffi-ft +? tffqwr + €s s1 !rri+ sre 3Tks

d q-arn t q-d dfrsr

(q) f-< qrqn * ft*arqn rta srdr d frs-{f,r + (d d
V6. 3{*{s d rnq-*r i a-si 6tr

(s) Eqd{ tRq rt vn tfuw *c ftn}r
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6qz1 E-SFc{ q,qz( ffi( emrrl q-,t+ i v} 6v *,

wqfu rerct 6fqrt sgr rr.+i- * {+c-{ t a} gv *r

o-Ar< rfrHqt- 61 ii-sfuo, arrt e,f{fr * w t qr+ inrtt

* sir verrrurffi Fqft) d ge-+ t uAeqa srE*,

+d-{ (eqi) 6qri ll

(i) s+, s'{ * Eqrc.r trnq-{ ftqI (ffffvm ) * wu *-ts
tgd-{t gs 6tfi, ffilt{ t crq ot qdra 6t, qrr

eq*s *g-rqrer "rffi *fura{q.dt gd-{m-fi

anr *r

(il) orc crt mfus fr Efur + qr$ fr:d { rfrFsfrtr

BnE{ q vrrR q,qrt Eftm * qrtm tt-< t cS
q-c& *r cRs q ffi- * rerc+ t q< qM=r *
ffkmrfr si s{t€ * s-dr{dr t qcaEs Bfu 3-{ qr qd

d&sr

(a) Autoland wants to set up.an automobile industry.

The free trade price of an automobile is $8000

and the imports of auto-components which go into

the making of an automobile are priced at S4000.

Answer the following questions:

(a) Countries A, B and C are the only three computer-

producing countries in the world. The three

countries have the same production technology for

every firm, and face the same demand conditions.

The annual sales of the three countries are

10,00,000; 90,00,000, and 40,00,000 computers,

respectively. Fixed and marginal costs of
production of computers for each firm in each

country are 750,000 and 5000, respectively; and

the degree of responsiveness of each firm's sales

to its price, vis-ir-vis other firms is 1/30,000.

Answer the following questions:

(i) Calculate the equilibrium number of firms

in the three countries before trade.

(ii) What is the equilibrium price in these

countries under autarky?

(iii) Calculate the total number of firms and

the equilibrium price, after the economies

integrate.

(iv) Discuss the gains from trade of market

integration post trade. Which country gains

the most from integration?. (12)

P.T.O.
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(b) Write a short note on Leontief Paradox. (3)

(er) in 4 B *{ c gftqr +- +q-d ftr 6gir sflrE-+ t{r
ir fti tri i n++, q,,{ * frq E{Fr siqrfi il6-So,

i, *t rqrq {Fr frrRqr- ql qFr q'rt *r fi-a ?vrt^

ft1 qfit+, frff ro,oo,ooo i: ifizrgT: 90 ,oo,ooo, .i]r

40,00,000 qqrr r'&o tlr + r+6, .F{ + ftS

dcg + serrr{ d ftftqr erlr: fua amr s'qsr:

75o,ooo #( sooo l; *t ir;q $'fr * go-* t r*o
q{ d frff d +{d + cR yRBqr fr Bff rzso,ooo

tr ffift+r sr* * sat i,

(i) qct t q-{+ fi-{ }fr n m,fr d r-go-+ m<r

d rrur<r etr

(ii) frrc{ror * n-re sr hi- t rgtrr afur wr t?

(iii) onia6qerc+ + v+t*,tq * me, wff fr Am

s{qT oik n-gel-{ ft-o * rrorcr 6tr

(iv) qqR * qre qrdn vfr+.ioT + qqn t arrr *
qql qir v+tfi-ol t T{t $Dq. anr f*-s tsr

ei eTF aflr *?

Consider a firm in an imaginary country Compland

producing computers, using computer engineers (E)

and production workers (P). Computer engineels are

engaged in designing computer software, while
production workers are engaged in the assembling of
computer components. Computer engineers are

considered to be highly skilled personnel and earn

relatively higher salaries (Wr) compared to production

workers (Wr).

(i) Starting from no-trade equilibrium with a

production possibility frontier (PPF) of a firm,

illustrate the gains from offshoring, if Compland

has a comparative advantage in providing the

services of the production workers.

(ii) Now suppose that advances in engineering design

in the rest of the world decrease the relative

salaries of computer engineers. Illustrate and

discuss the implications of this change in the

production of computers in Compland, with the

help of a diagram. (15)

\16 6k{F6 ?$ + Hq71 {ffftq( (i) .p 3p6a ryft-ei-

(ff) er vcft 6-1 6ca.er <tr+ qr* Vs- sd yr ft-qn qt..r

5

(q) ffi'Rttmns rr \rfi qf$q{ M frftqr
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